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No No K4 B %4 fFr B 4 e R OB B OB M ARAUb
1 2 40215100 HH HL e K1Y 2 =7SC 59.48 1:00.06 1:59.54 0.00
2 8 40223100 #FHt E@ B Ky =2 =75C 59.42 1:00.34 1:59.76 1.64
3 9 40223101 453 BHIN g KFIY 2 =7SC 59.38 1:01.80 2:01.18 12.21
4 1 40214100 &L HET o N 1:00.82 1:02.18 2:03.00 25.76
5 5 40218100 #1U /D'“ g K1Y 2 =7SC 1:06.88 1:00.28 2:07.16 56.73
6 7 40222101 A E=iE HE IR A ¥ —]r 1:05.22 1:08.24 2:13.46 103.64
7 4 40217100 HE TE e KFIY = =7SC 1:22.28 1:23.79 2:46.07 346.43
8 3 40215101 /MR #E i KF1Y = =7SC 2:37.94 1:21.14 3:59.08 890.00
9 6 40222100 HAR & W KL =2 =7SC 59.10 10:00.00 10:59.10 4017.14
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
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DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]
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B 2 28 (28) 24— bR 9:30 B % 28 (28) 2 5 — ] 10:30
K A= BE EE= RTAT A K A= BE EE= NP TA
A=K7 4=y a2 KR 0.3C / 1.7°C A —b/T 4=y aRIR /1
‘ ~ F=890
NERL Af=h = BERE - 1AH 2KH & F# L—2A
No No K4 B %4 fFr B 4 e R OB B OB M ARAUb
1 20 40226200 {EfE =ik g K1Y 2 =7SC 56.04 56.91 1:52.95 0.00
2 11 40216200 EEF &K BN K1Y =2 =7SC 57.30 56.43 1:53.73 6.15
3 53 A8 KAE 58.24  56.35 1:54.59 12.92
4 18 40224200 [AKT FEFD B KF1Y = =7SC 1:00.28 1:00.90 2:01.18 64.85
5 14 40219200 H4E #EE R FHET S 2 =7 1:04.22 1:01.71 2:05.93 102.28
6 16 40222201 B Kih e KR 2 =7SC 1:06.21 1:05.50 2:11.71 147.82
7 15 40222200 HA #H R K = =7SC 1:06.12 1:06.90 2:13.02 158.14
8 19 40225200 TRE B4 BN FER A S —E 1:08.11 1:07.87 2:15.98 181.47
9 12 40216201 /)R e g K1Y =2 =7SC 1:08.36 1:08.74 2:17.10 190.29
10 17 40223200 A F & s KFIY = =7SC 1:08.90 1:08.67 2:17.57 194.00
11 13 40217200 HHi# [» g KFIY =2 =7SC 1:12.43 1:11.71 2:24.14 245.76
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
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DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
HfrE
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AU 28(28)  AX—NEERT  9:30  BEPIK 28(28)  AX—IEERT 1030
KA V273 EY ST 4T A KA R EY T4 T A
A=K7 4=y a2 KR 0.3C / 1.7°C A —b/T 4=y aRIR / 1.6°C
F=890
JIERE Ap=] =N BEEE 1A 2A&XB A& FF 1—X
No No K4 B %4 fFr B 4 BF R OB R OB OB RAUD
1 21 40223400 43H —F 8 KFIY 2 =7SC 53.86 54.49 1:48.35 0.00
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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